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●Summary
The overall structure of control command is in command-line manner. The communication baud rate is a fixed value 9600bps. The PC gives the command, and then the machine returns the results to the PC after analysis and execution. The command is only confined to lowercase letters from “a” to “z” and numbers from “0” to “9”. Each command ends with the line break (Represented in hexadecimal as“0x0a”). The maximum total length PC command is of 15 characters (Including 0x0a). The follows are specific instructions for each command.
1. a 
PC gives the command “a + 0x0a”, then the machine will return the model of the machine. i.e. FY3202S、FY3205S、FY3208S、FY3210S、or FY3224S.
2. b 
(1) The command “bw”: To set the type of main waveform.
Form as：bwx+ 0x0a

Above “x” represents the waveform type by 1 digit. i.e.：
bw0   Set to be Sine Wave
bw1   Set to be Triangle or Sawtooth Wave
bw2   Set to be Square Wave
(2) The command “bf”: To set the frequency of main waveform.
Form as：bfxxxxxxxxx + 0x0a

Above “xxxxxxxxx” shows the frequency value represented by 9 digits. For example:
bf100000000 means the frequency is set to 1MHz.

bf000123456 means the frequency is set to 1.23456kHz.

bf000000001 means the frequency is set to 0.01Hz. 
(3) The command “ba”: To set the amplitude of main waveform.
Form as：baxx.x+ 0x0a

Above “xx.x” shows the amplitude value needed. For example：

ba12.3 means the amplitude is set to 12.3V.
ba0.3 means the amplitude is set to 0.3V.
(4) The command “bo”: To set the DC offset of main waveform.
Form as：boxxx.x+ 0x0a

Above “xxx.x” shows the offset value needed. For example: 
bo2.3 means the offset is set to 2.3V.
bo-2.3 means the offset is set to -2.3V.
(5) The command “bd”: To set the duty cycle of main waveform.
Form as：bdxx+ 0x0a

Above “xx” shows the duty cycle value represented by 2 digits. For example: 
bd51 means the duty cycle is set to 51%.
(6) The command “bt”: To set the sweep time.
Form as：btxx+ 0x0a

Above “xx” shows the sweep time value represented by 2 digits. 

For example: 
bt51 means the sweep time is set to 51 Seconds.
(7) The command “bs”: To save current parameters (Frequency, Duty Cycle, Waveform etc.) to specific position (0~9).
Form as：bsx+ 0x0a

Above “x” shows the saving positions represented by 1 digit. For example: 
bs0 means saving to Position 0. The position is for default value. In other words, parameters saved in this position will be loaded automatically at start-up.

bs1 means saving to Position 1. The position is also for start value for sweep function.
bs2 means saving to Position 2. The position is also for end value for sweep function.
(8) The command “bl”: To load parameters from specific positions (0~9).

Form as：blx+ 0x0a

Above “x” shows the saving position represented by 1 digit. For example:
bl3 means loading parameters (Frequency, Duty Cycle, Waveform etc.) from position 3. 
(9) The command “br”: To control sweep function. 
br1    To start sweep.

br0    To pause sweep

(10) The command “bc”: To reset the Counter. 
(11) The command “bm”: To set the sweep mode. 
Form as: bmx+ 0x0a

Above “x” shows the sweep mode represented by 1 digit. For example: 
bm0 means setting to Linear Sweep Mode. 
bm1 means setting to Logarithm Sweep Mode.
(12) The command “bb”: To set sweep beginning frequency value. 
Form as: bbxxxxxxxxx + 0x0a

Above “xxxxxxxxx” shows the frequency value represented by 9 digits. For example: 
bb100000000 means setting sweep beginning frequency to 1 MHz. bb000123456 means setting sweep beginning frequency to 1.23456 KHz

bb000000001 means setting sweep beginning frequency to 0.01 Hz.
(13) The command “be”: To set sweep end frequency value.

Form as: bexxxxxxxxx + 0x0a

Above “xxxxxxxxx” shows the frequency value represented by 9 digits. For example: 
be100000000 means setting sweep end frequency to 1 MHz. be000123456 means setting sweep end frequency to 1.23456 kHz.
be000000001 means setting sweep end frequency to 0.01 Hz.
3. c 
The command “c” is for getting current information of the instrument.
(1) The command “cf”: To get current frequency value.

PC gives the command “cf + 0x0a” and the instrument returns “cf001000000”. It means the current frequency is 10kHz.

 (2) The command “ce”: To get current exterior frequency measuring value.
PC gives the command “ce + 0x0a” and the machine returns “ce001000000”. It means the current exterior frequency measuring value is 10 kHz.
(3) The command “cc”: Read the current value of counter.
PC gives the command “cc + 0x0a” and the machine returns “cc000000678”. It means the current counter value is 678.
(4) The command “cd”: Read the current duty cycle value.
PC gives the command “cd + 0x0a” and the machine returns “cd50”. It means the current duty cycle is 50%.
(5) The command “ct”: Read the current sweep time.
PC gives the command “ct + 0x0a” and the machine returns “ct10”. It means the current sweep time is 10 seconds.
4. d 
(1) The command “dw”: To set the type of subsidiary waveform.
Form as：dwx+ 0x0a
Above “x” represents the waveform type by 1 digit. i.e.：
dw0   Set to be Sine Wave
dw1   Set to be Triangle or Sawtooth Wave
dw2   Set to be Square Wave
 (2) The command “df”: To set the frequency of subsidiary waveform.
Form as：dfxxxxxxxxx + 0x0a

Above “xxxxxxxxx” shows the frequency value represented by 9 digits. For example:
df100000000 means the frequency is set to 1MHz.

df000123456 means the frequency is set to 1.23456kHz.

df000000001 means the frequency is set to 0.01Hz.
 (3) The command “da”: To set the amplitude of subsidiary waveform.
Form as：daxx.x+ 0x0a

Above “xx.x” shows the amplitude value needed. For example：

da12.3 means the amplitude is set to 12.3V.

da0.3 means the amplitude is set to 0.3V.
 (4) The command “do”: To set the DC offset of subsidiary waveform.
Form as：doxxx.x+ 0x0a

Above “xxx.x” shows the offset value needed. (The first “x” represents ‘±’. It is omitted when it represents ‘＋’). For example: 

do2.3 means the offset is set to 2.3V.
do-2.3 means the offset is set to -2.3V.
 (5) The command “dp”: To set the Phase of subsidiary waveform relative to main waveform.

Form as: dpxxx + 0x0a

Above “xxx” shows the phase value needed. For example: 
dp123 means the phase of subsidiary waveform is 123°.
dp45 means the phase of subsidiary waveform is 45°
(6) The command “dd”: To set the duty cycle of subsidiary waveform.
Form as：ddxx+ 0x0a

Above “xx” shows the duty cycle value represented by 2 digits. For example: 

dd51 means the duty cycle is set to 51%.
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